Year 2 Spring 1 Maths Activity Mat 5

Section 1 Section 2 Section 3 Section 4
Write three  numbers Use the signs > < to show the 18 is seven more Draw one line of
greater than 40, using most and least amount. than which number? symmetry.
the numbers on the cards. )
_ ) 39 57
3)17](5) (2] = B
— ‘ £1.45 £1.36
J [ ] [ 24+9 31 — —
Section 5 Section 6 Section 7 Section 8
Emma invited What time is shown | | Complete the sequence:
14 people to her on the clock? [:]
birthday party. 12 13+ =22
people came. How 52, 54, 56,[ ],[ ],[ ]
many people weren't [:] -9=12
able to come?
D [ = 4 x D -8
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Year 2 Spring 1 Maths Activity Mat 5 Answers

Section 1 Section 2 Section 3 Section 4
Write three  numbers Use the signs > < to show the | 18 is seven more | Draw one line of
greater than 40, using most and least amount. than which number?

the numbers on the cards. )

GEEE|| L.m..

£1.45( > [ £1.36

Any three of the following:

52, 53, 57,72, 73, 75 24+9 | > 31 QI = ; .
J One of the lines drawn
Section 5 Section 6 Section 7 Section 8
Emma invited What time is shown | | Complete the sequence:
14 people to her on the clock? E]
birthday party. 12 13+ =22

people came. How
many people weren't

52, 54, 56,[58],[60],[62]

able to come?
I = 4 x
2 4 o'clock
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Section 1 Section 2 Section 3 Section 4
Write three  numbers Use the signs > < to show the 32 is 14 less than Draw one line of
greater than 60, using most and least amount. which number? symmetry.
the numbers on the cards. )
; . 89 82
6|(8][1][4 — D
- : £1.45-15p £1.20
] [ ] [ | 74 51+24 — —
Section 5 Section 6 Section 7 Section 8
Elias invited 32 What time is shown | | Complete the sequence:
people to his on the clock? [:]
birthday party. 29 30 - =12
people came. How 55, 60, 65,[ ],[ ],[ ]
many people weren't [:] +13 =40
able to come?
D - . D=35
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Year 2 Spring 1 Maths Activity Mat 5 Answers

Section 1 Section 2 Section 3 Section 4

Write three  numbers Use the signs > < to show the 32 is 14 less than Draw one line of
greater than 60, using most and least amount. which number? symmetry.

the numbers on the cards. )

DO BT =

£1.45-15p| > | £1.20

Any three of the following: —— - —
61, 64, 68, 81, 84, 86 74 < | 51+24
Section 5 Section 6 Section 7 Section 8
Elias invited 32 What time is shown | | Complete the sequence:
people to his on the clock?
birthday party. 29

people came. How
many people weren't

55, 60, 65,[70],[75 ],[80]

able to come?
(@ = 7 x = 35
3 10 o’clock
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Year 2 Spring 1 Maths Activity Mat 5

Section 1 Section 2 Section 3 Section 4
Write  three  numbers Use the signs > < to show the | 5% is 16 more than Draw three lines of
less than 40, using the most and least amount. which number? symmetry.
numbers on the cards. . )
— 24 + 52 59+11
5][8][9][2] — D
) - g £1.45+£1.36 £2.80
[ ] [ 7x5 40-6 - =
Section 5 Section 6 Section 7 Section 8
Philip invited What time is shown | | Complete the sequence:
35 people to his on the clock? [:
birthday party. 27 +19=51
people came. How 50, 47, 44,[ ],[ ],[ ]
many people weren't [: - 26= 25
able to come?
D [ = 8O+D -8
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Year 2 Spring 1 Maths Activity Mat 5 Answers

Section 1 Section 2 Section 3 Section 4

Write three  numbers Use the signs > < to show the | 5% is 16 more than | Draw three lines of
less than 40, using the most and least amount. which number? symmetry.
numbers on the cards. )

5][8][9][2 24 + 52 ;5‘%11 .

£1.45+£1.36| > | £2.80

1
1
1
1
1
1
X
1
1
1
1
1
1

25] [28] [29 7x5 S 40-6 IE -
Section 5 Section 6 Section 7 Section 8
Philip invited What time is shown | | Complete the sequence:
35 people to his on the clock? [:
birthday party. 27 32 |+ 19=51
people came. How 50, 47, 44,[41 ],[ 38 ],[ 35 ]
many people weren't E - 26= 25

able to come?
fie = 80+ =8
Half past 6
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